

Turkish Journal of Mathematics

http://journals.tubitak.gov.tr/math/

Turk J Math (2019) 43: 2898 – 2907 © TÜBİTAK doi:10.3906/mat-1906-12

Research Article

Tauberian conditions under which convergence follows from summability by the discrete power series method

Sefa Anıl SEZER¹, İbrahim ÇANAK^{2*}

¹Department of Mathematics, Faculty of Engineering and Natural Sciences, İstanbul Medeniyet University, İstanbul, Turkey

²Department of Mathematics, Faculty of Science, Ege University, İzmir, Turkey

Beceived: 03.06.2019	•	Accepted/Published Online: 26.10.2019	•	Final Version: 22 11 2019
freceived: 05.00.2019	•	Accepted/1 ublished Online. 20.10.2019	•	Fillar version. 22.11.2013

Abstract: In this paper, we obtain Tauberian conditions to recover convergence of a series from its discrete power series summability under certain conditions. As special cases of our main results, we get discrete analogues of some well-known Tauberian theorems in the literature.

Key words: Tauberian conditions, discrete summability, power series methods

1. Introduction and preliminaries

Let $\sum_{k=0}^{\infty} a_k$ be a series of real or complex numbers and (s_n) be its corresponding sequence of partial sums. We suppose throughout this paper that (p_n) is nonnegative for all n with $p_0 > 0$ and satisfies

$$P_n = \sum_{k=0}^n p_k \to \infty, \ n \to \infty.$$
(1.1)

The weighted mean of (s_n) is given by the sequence

$$\sigma_n = \frac{1}{P_n} \sum_{k=0}^n p_k s_k$$

Assume that the radius of convergence of the power series $p(x) = \sum_{k=0}^{\infty} p_k x^k$ is 1. Let

$$p_s(x) = \frac{1}{p(x)} \sum_{k=0}^{\infty} p_k s_k x^k.$$

Now, we give definitions of some well-known summability methods which will be used in the sequel.

(i) The weighted mean method.

The series $\sum_{k=0}^{\infty} a_k$ is called (\bar{N}, p) summable by the weighted mean method determined by the sequence p; in short, (\bar{N}, p) summable to L, if

$$\lim_{n \to \infty} \sigma_n = L.$$

^{*}Correspondence: ibrahim.canak@ege.edu.tr

²⁰¹⁰ AMS Mathematics Subject Classification: 40E05, 40G10

(ii) The power series method (P).

The series $\sum_{k=0}^{\infty} a_k$ is called summable (P) to L, if $p_s(x)$ exists for each $x \in (0,1)$ and if

$$\lim_{x \to 1^-} p_s(x) = L$$

(iii) The discrete power series method (P_{λ}) .

Let (λ_n) be a strictly increasing sequence such that $\lambda_0 \ge 1$ and $\lambda_n \to \infty$ as $n \to \infty$ and define the sequence (x_n) by $x_n = 1 - \lambda_n^{-1}$ for all n. It is obvious that $0 \le x_0 < x_1 < ... < x_n \to 1$. The series $\sum_{k=0}^{\infty} a_k$ is called summable (P_{λ}) to L, if $p_s(x_n)$ exists for each n and if

$$\lim_{n \to \infty} p_s(x_n) = L$$

As opposed to the method (P) in which $x \to 1^-$ continuously we refer to (P_{λ}) as a discrete method, since $x_n \to 1^-$ through a sequence of numbers. The method (P_{λ}) reduces to the method (A_{λ}) (the discrete Abel method) when $p_k = 1$; to the method (L_{λ}) (the discrete logarithmic method) when $p_k = \frac{1}{k+1}$.

A summability method is said to be regular, if it sums every convergent series to its ordinary sum. The condition (1.1) assures the regularity of all three methods (\bar{N}, p) , (P) and (P_{λ}) (see Watson [17]). Given two summability methods A, and B, we write $A \subseteq B$ and say B includes A if a series summable A is summable B to the same value. If there is a series summable B but not summable A, we say B strictly includes A and write $A \subset B$. If $A \subseteq B$ and $B \subseteq A$, two methods are called equivalent and we write $A \simeq B$.

It is known that $(\bar{N}, p) \subseteq (P)$ (see Ishiguro [6]). Watson [17] obtained the following inclusion results for the (P_{λ}) method.

Theorem 1.1 Let $E_{\lambda} = \{\lambda_n : n = 0, 1, 2, ...\}$ and $E_{\mu} = \{\mu_n : n = 0, 1, 2, ...\}$. Then

- (i) $(P_{\lambda}) \subseteq (P_{\mu})$ if and only if $E_{\mu} \setminus E_{\lambda}$ is a finite set,
- (ii) $(P_{\lambda}) \simeq (P_{\mu})$ if and only if the symmetric difference $E_{\mu} \Delta E_{\lambda}$ is a finite set,
- (iii) For any λ , $(P) \subset (P_{\lambda})$.

Recently, conditions under which (P) and (P_{λ}) methods are equivalent for bounded sequences have been determined in our previous work [12].

The interest in summability methods is that they allow for a better understanding of divergent series. In general, any theorem asserting the regularity of a method of summation is said to be an Abelian theorem. The direct converse of an Abelian theorem is not always true, since if a regularity theorem for a method of summability is reversible, then the method would be trivial because it applies just to convergent series. It is therefore significant to get recovered forms of conditional converses to Abelian theorems, by imposing additional restrictions. Such restrictions are called Tauberian conditions, and the conditionally converse results, Tauberian theorems, honoring Alfred Tauber who first obtained a result of this type.

Tauberian theorems for continuous-type power series methods have a long history; see for example the books in [5, 8] and related recent papers in [2, 4, 13, 16]. The studies for the discrete-type summability methods began with the work of Armitage and Maddox [1] on discrete Abel means (A_{λ}) . Maddox [9, 10] proved

several Tauberian theorems for the summability (A_{λ}) . Later, Watson [17] introduced the discrete power series summability (P_{λ}) and generalized the (A_{λ}) method. Further, Patterson et al. [11] extended the (P_{λ}) method of Watson [17] by using Bürmann series and obtained a Tauberian theorem. Çanak and Totur [3] gave a Tauberian theorem for the discrete M_{φ} summability method and as a special case they obtained a Tauberian theorem for the discrete logarithmic summability method. Furthermore, converse theorems for the discrete Bürmann power series summability are established in our previous work [14]. In this study we present new Tauberian conditions for the summability (P_{λ}) . Our main results improve some well-known Tauberian theorems in the literature.

2. Main results

In this section, we use capital letter C to denote a positive number independent from the variable under consideration which is not necessarily the same at each occurrence. We also adopt the following familiar conventions:

- (i) $f_n = o(g_n)$ means $f_n/g_n \to 0$ as $n \to \infty$,
- (ii) $f_n = O(g_n)$ means $|f_n| \le Cg_n$ for large enough n.

In [18], Watson proved the following Tauberian theorem for the (P_{λ}) method as a generalization of Ishiguro's [6] result for the summability (P).

Theorem 2.1 Assume that

$$\frac{P_n}{p(x_n)} = O(1), \quad n \to \infty, \tag{2.1}$$

$$0 < p_n \le C \text{ for all } n \ge 0, \tag{2.2}$$

and

$$\lambda_n = O(P_n). \tag{2.3}$$

If $\sum_{n=0}^{\infty} a_n$ is summable (P_{λ}) to L and

$$a_n = o\left(\frac{p_n}{P_{n-1}}\right), \quad n \to \infty,$$

$$(2.4)$$

then $\sum_{n=0}^{\infty} a_n$ converges to L.

Since the weighted mean method (\overline{N}, p) is regular, (2.4) implies

$$\sum_{k=0}^{n} P_{k-1}a_k = o(P_n), \tag{2.5}$$

where $P_{-1} = 0$. As $\sum_{k=0}^{n} ka_k = o(n)$ is a well-known Tauberian condition for the Abel summability (Tauber's second theorem, [15]), one may think that (2.5) is a Tauberian condition for the (P_{λ}) summability. We prove the following theorem as an extension of Tauber's second theorem. It also generalizes Theorem 2.1.

Theorem 2.2 Let the conditions (2.1), (2.2), and (2.3) be satisfied. If $\sum_{k=0}^{\infty} a_k$ is summable (P_{λ}) to L and

$$\sum_{k=0}^{n} P_{k-1}a_k = o(P_n), \quad n \to \infty,$$
(2.6)

then $\sum_{k=0}^{\infty} a_k$ converges to L.

 $\mathbf{Proof} \quad \mathrm{Let}$

$$v_n = \frac{1}{P_n} \sum_{k=0}^n P_{k-1} a_k, \ P_{-1} = 0.$$
(2.7)

We then obtain

$$\begin{split} \frac{1}{P_n} \sum_{k=0}^n p_k s_k &= \frac{1}{P_n} \{ p_0 s_0 + p_1 s_1 + \ldots + p_n s_n \} \\ &= \frac{1}{P_n} \{ p_0 a_0 + p_1 (a_0 + a_1) + \ldots + p_n (a_0 + a_1 + \ldots + a_n) \} \\ &= \frac{1}{P_n} \{ (p_0 + p_1 + \ldots + p_n) a_0 + (p_1 + p_2 + \ldots + p_n) a_1 + \ldots + p_n a_n \} \\ &= \frac{1}{P_n} \sum_{k=0}^n (P_n - P_{k-1}) a_k \\ &= s_n - \frac{1}{P_n} \sum_{k=0}^n P_{k-1} a_k. \end{split}$$

Consequently, from the last identity above and (2.7) we get

$$\sigma_n = s_n - v_n. \tag{2.8}$$

By (2.6) and the regularity of (P_{λ}) method, (v_n) is summable (P_{λ}) to 0. Since $\sum_{k=0}^{\infty} a_k$ is summable (P_{λ}) to L, it follows from (2.8) that (σ_n) is also summable (P_{λ}) to L. Besides, considering (2.8) we have

$$\begin{aligned} \frac{P_{n-1}}{p_n} \Delta \sigma_n &= \frac{P_{n-1}}{p_n} \frac{1}{P_n} \sum_{k=0}^n p_k s_k - \frac{P_{n-1}}{p_n} \frac{1}{P_{n-1}} \sum_{k=0}^{n-1} p_k s_k \\ &= \frac{P_{n-1}}{p_n} \frac{1}{P_n} \sum_{k=0}^n p_k s_k - \frac{1}{p_n} \sum_{k=0}^n p_k s_k + s_n \\ &= \frac{P_{n-1}}{p_n} \frac{1}{P_n} \sum_{k=0}^n p_k s_k - \frac{P_n}{p_n} \frac{1}{P_n} \sum_{k=0}^n p_k s_k + s_n \\ &= s_n - \frac{1}{P_n} \sum_{k=0}^n p_k s_k \\ &= v_n \\ &= \frac{1}{P_n} \sum_{k=0}^n P_{k-1} a_k \end{aligned}$$

2901

Therefore, (2.6) implies that $\Delta \sigma_n = o\left(\frac{p_n}{P_{n-1}}\right)$. Now, applying Theorem 2.1 to the sequence (σ_n) we get $\lim_{n \to \infty} \sigma_n = L$. Taking (2.6) and (2.8) into account, we conclude $\lim_{n \to \infty} s_n = \sum_{k=0}^{\infty} a_k = L$.

Corollary 2.3 Let $p_k > 0$ for all k = 0, 1, 2, ... and the conditions (2.1), (2.2), and (2.3) be satisfied. If $\sum_{k=0}^{\infty} a_k$ is summable (P_{λ}) to L and

$$\sum_{k=0}^{n} |a_k|^p \frac{P_{k-1}^p}{p_k^{p-1}} = o(P_n), \quad n \to \infty, \ p > 1,$$
(2.9)

then $\sum_{k=0}^{\infty} a_k$ converges to L.

Proof We complete the proof by showing that (2.9) implies (2.6). Indeed

$$\left| \frac{1}{P_n} \sum_{k=0}^n P_{k-1} a_k \right| \le \frac{1}{P_n} \sum_{k=0}^n p_k |a_k| \frac{P_{k-1}}{p_k}$$
$$\le \frac{1}{P_n} \left(\sum_{k=0}^n p_k |a_k|^p \left(\frac{P_{k-1}}{p_k} \right)^p \right)^{\frac{1}{p}} \left(\sum_{k=0}^n p_k \right)^{\frac{1}{q}}$$
$$= \left(\frac{1}{P_n} \sum_{k=0}^n |a_k|^p \frac{P_{k-1}^p}{p_k^{p-1}} \right)^{\frac{1}{p}},$$

where $\frac{1}{p} + \frac{1}{q} = 1$. Hence, condition (2.6) holds from (2.9) and Theorem 2.2.

In the special case of the discrete Abel method (A_{λ}) , we have the following theorem.

Corollary 2.4 Assume that there exist two positive numbers γ_1 and γ_2 such that $\gamma_1 \leq \frac{\lambda_k}{k} \leq \gamma_2$. If $\sum_{k=0}^{\infty} a_k$ is summable (A_{λ}) to L and

$$\sum_{k=0}^{n} ka_k = o(n), \quad n \to \infty,$$

then $\sum_{k=0}^{\infty} a_k$ converges to L.

Next, we prove two Tauberian theorems for the summability (P_{λ}) . We inspired by the results in [7].

Theorem 2.5 Assume that

$$\frac{P_k}{p(x_k)} = O(1), \quad k \to \infty, \tag{2.10}$$

and

$$\lambda_k = O\left(\frac{1}{p_k}\right). \tag{2.11}$$

2902

If $\sum_{k=0}^{\infty} a_k$ is summable (P_{λ}) to L and

$$a_k = o\left(\frac{p_k}{P_{k-1}}\right), \quad k \to \infty,$$

$$(2.12)$$

then $\sum_{k=0}^{\infty} a_k$ converges to L.

Proof We demonstrate this theorem by showing that the difference below tends to 0 as $n \to \infty$.

$$s_n - p_s(x_n) = \frac{1}{p(x_n)} \sum_{k=0}^{\infty} (s_n - s_k) p_k x_n^k$$

= $\frac{1}{p(x_n)} \sum_{k=0}^n (s_n - s_k) p_k x_n^k + \frac{1}{p(x_n)} \sum_{k=n+1}^\infty (s_n - s_k) p_k x_n^k$
= $I + J.$

If x_n is chosen to be equal to $1 - \frac{1}{\lambda_n}$, we have

$$I = o(1)$$
 as $n \to \infty$,

from (2.12) and the fact that (\overline{N}, p) is regular (see Watson [18]).

Fix $\epsilon > 0$ and consider J. Since $a_k = o\left(\frac{p_k}{P_{k-1}}\right)$, there exists a $N \in \mathbb{N}$ such that $|a_k| \le \epsilon \frac{p_k}{P_{k-1}}$ for k > N. Suppose that k > n > N. Then, from (2.11) and (2.12) we find

$$\begin{aligned} |s_n - s_k| &= |a_{n+1} + a_{n+2} + \dots + a_k| \\ &\leq \epsilon \left(\frac{p_{n+1}}{P_n} + \frac{p_{n+2}}{P_{n+1}} + \dots + \frac{p_k}{P_{k-1}} \right) \\ &\leq \frac{\epsilon}{P_n} \left(p_{n+1} + p_{n+2} + \dots + p_k \right) \\ &\leq \frac{\epsilon C}{P_n} \left(\frac{1}{\lambda_{n+1}} + \frac{1}{\lambda_{n+2}} + \dots + \frac{1}{\lambda_k} \right) \\ &\leq \frac{\epsilon C}{P_n} \frac{k}{\lambda_n}. \end{aligned}$$

Considering (2.11), it yields

$$\begin{aligned} |J| &\leq \frac{1}{p(x_n)} \frac{\epsilon C}{P_n \lambda_n} \sum_{k=n+1}^{\infty} k p_k x_n^k \\ &\leq \frac{1}{p(x_n)} \frac{\epsilon C}{P_n \lambda_n^2} \sum_{k=n+1}^{\infty} k x_n^k \\ &\leq \frac{P_n}{p(x_n)} \frac{\epsilon C}{P_n^2 \lambda_n^2} \sum_{k=0}^{\infty} k x_n^k \\ &= \epsilon \frac{P_n}{p(x_n)} \frac{C}{P_n^2} \left(1 - \frac{1}{\lambda_n} \right). \end{aligned}$$

Thus, by using (2.10) we obtain J = o(1) as $n \to \infty$, which proves the theorem.

Theorem 2.6 Assume that

$$(p_k)$$
 decreases monotonically, (2.13)

and

$$\gamma_1 \leq \frac{\lambda_k}{k} \leq \gamma_2 \text{ for some positive numbers } \gamma_1 \text{ and } \gamma_2.$$
 (2.14)

If $\sum_{k=0}^{\infty} a_k$ is summable (P_{λ}) to L and

$$a_k = o\left(\frac{p_k}{P_{k-1}}\right), \quad k \to \infty,$$

$$(2.15)$$

then $\sum_{k=0}^{\infty} a_k$ converges to L.

Proof As in the proof of Theorem 2.5, let

$$s_n - p_s(x_n) = I + J.$$

We get from (2.15) and the regularity of (\overline{N}, p) method that

$$I = o(1)$$
 as $n \to \infty$,

when $x_n = 1 - \frac{1}{\lambda_n}$.

We shall estimate J. Firstly, for sufficiently large n we have

$$P_n\left(1-\frac{1}{\lambda_n}\right)^n < \sum_{k=0}^n p_k\left(1-\frac{1}{\lambda_n}\right)^k < \sum_{k=0}^\infty p_k\left(1-\frac{1}{\lambda_n}\right)^k$$

and

$$\left(1-\frac{1}{\lambda_n}\right)^{-n} > \frac{P_n}{\sum\limits_{k=0}^n p_k \left(1-\frac{1}{\lambda_n}\right)^k} > \frac{P_n}{\sum\limits_{k=0}^\infty p_k \left(1-\frac{1}{\lambda_n}\right)^k}.$$
(2.16)

Then, by (2.14) and (2.16), we get $\frac{P_n}{p(x_n)} = O(1)$ as $n \to \infty$. Now, considering (2.15) and (2.13), respectively, we obtain

$$\begin{aligned} |s_n - s_k| &= |a_{n+1} + a_{n+2} + \dots a_k| \\ &\leq \epsilon \left(\frac{p_{n+1}}{P_{n+1}} + \frac{p_{n+2}}{P_{n+2}} + \dots + \frac{p_k}{P_k} \right) \\ &\leq \frac{\epsilon}{P_n} \left(p_{n+1} + p_{n+2} + \dots + p_k \right) \\ &\leq \epsilon \frac{P_k}{P_n}, \end{aligned}$$

and so

$$|J| \leq \frac{1}{p(x_n)} \frac{\epsilon}{P_n} \sum_{k=n+1}^{\infty} P_k p_k x_n^k$$
$$\leq \frac{P_n}{p(x_n)} \frac{\epsilon p_n}{P_n^2} \sum_{k=n+1}^{\infty} P_k x_n^k$$
$$\leq \epsilon C \frac{p_n}{P_n^2} \sum_{k=n+1}^{\infty} P_k x_n^k.$$

Defining

$$Q_k = \sum_{j=k}^{\infty} x_n^j$$
$$= \sum_{j=0}^{\infty} \left(1 - \frac{1}{\lambda_n} \right)^j - \sum_{j=0}^{k-1} \left(1 - \frac{1}{\lambda_n} \right)^j$$
$$= \lambda_n - \frac{1 - \left(1 - \frac{1}{\lambda_n} \right)^k}{1 - \left(1 - \frac{1}{\lambda_n} \right)^k} = \lambda_n \left(1 - \frac{1}{\lambda_n} \right)^k,$$

we find that

$$\sum_{k=n+1}^{\infty} P_k x_n^k = \sum_{k=n+1}^{\infty} P_k \left(Q_k - Q_{k+1} \right)$$

= $P_{n+1} Q_{n+1} + \sum_{k=n+2}^{\infty} p_k Q_k$
= $P_{n+1} \lambda_n \left(1 - \frac{1}{\lambda_n} \right)^{n+1} + \sum_{k=n+2}^{\infty} p_k \lambda_n \left(1 - \frac{1}{\lambda_n} \right)^k$.

Thus, we observe

$$|J| \le \epsilon C \frac{p_n}{P_n^2} P_{n+1} \lambda_n \left(1 - \frac{1}{\lambda_n} \right)^{n+1} + \epsilon C \frac{p_n}{P_n^2} \sum_{k=n+2}^{\infty} p_k \lambda_n \left(1 - \frac{1}{\lambda_n} \right)^k$$
$$= S_1 + S_2.$$

It suffices to show that $S_1, S_2 \to 0$ as $n \to \infty$. Then, by (2.13) and (2.14) we see that

$$0 \le S_1 \le \epsilon C \frac{\lambda_n}{n} \frac{P_{n+1}}{P_n} \left(1 - \frac{1}{\lambda_n}\right)^{n+1}$$
$$\le \epsilon C \frac{\lambda_n}{n} \left(1 + \frac{1}{n}\right) \left(1 - \frac{1}{\lambda_n}\right)^{n+1}$$
$$\le \epsilon C,$$

and further

$$0 \le S_2 \le \epsilon C \frac{p_n^2}{P_n^2} \lambda_n \sum_{k=0}^{\infty} \left(1 - \frac{1}{\lambda_n} \right)^k$$
$$\le \epsilon C \left(\frac{p_n \lambda_n}{P_n} \right)^2$$
$$\le \epsilon C \left(\frac{\lambda_n}{n} \right)^2$$
$$\le \epsilon C.$$

Hence, we conclude $|J| \leq \epsilon C$ for large enough n. Therefore, letting $n \to \infty$, it follows $\lim_{n \to \infty} s_n = \lim_{n \to \infty} p_s(x_n) = L$, which completes the proof.

Remark 2.7 In previous theorems, conditions (2.12) and (2.15) may be replaced by condition (2.6).

As a special case, we can give the following Tauberian theorem for the discrete logarithmic method (L_{λ}) .

Corollary 2.8 Let there exist two positive numbers γ_1 and γ_2 such that $\gamma_1 \leq \frac{\lambda_k}{k} \leq \gamma_2$. If $\sum_{k=0}^{\infty} a_k$ is summable (L_{λ}) to L and

$$a_k = o\left(\frac{1}{k\log k}\right), \quad k \to \infty$$

then $\sum_{k=0}^{\infty} a_k$ converges to L.

3. Conclusion

Discrete power series methods of summability were presented by Watson [17] in 1998. In the same study, their regularity and Abelian properties were developed and it was shown that each strictly includes their corresponding power series method. Recently, conditions for the equivalence of (P) and (P_{λ}) methods were examined in our previous work [12]. In the present work, we have proved Tauberian theorems for the (P_{λ}) method of summability inspired by the results in [7].

References

- Armitage DH, Maddox IJ. Discrete Abel means. Analysis. International Mathematical Journal of Analysis and its Applications 1990; 10 (2-3), 177-186. doi: 10.1524/anly.1990.10.23.177
- [2] Çanak İ, Totur Ü. Tauberian theorems for the (J, p) summability method. Applied Mathematics Letters 2012; 25 (10): 1430-1434. doi: 10.1016/j.aml.2011.12.017
- [3] Çanak İ, Totur Ü. A Tauberian theorem for the discrete M_{φ} summability method. Applied Mathematics Letters 2012; 25 (4): 771-774. doi: 10.1016/j.aml.2011.10.018
- [4] Çanak İ, Totur Ü. A theorem for the (J, p) summability method. Acta Mathematica Hungarica 2015; 145 (1): 220-228. doi: 10.1007/s10474-014-0452-y
- [5] Hardy GH. Divergent Series. Oxford, UK: Clarendon Press, 1949.

- [6] Ishiguro K. A Tauberian theorem for (J, p_n) summability. Proceedings of the Japan Academy 1964; 40: 807-812. doi: 10.3792/pja/1195522569
- [7] Ishiguro K. Two Tauberian theorems for (J, p_n) summability. Proceedings of the Japan Academy 1965; 41: 40-45. doi: 10.3792/pja/1195522526
- [8] Korevaar J. Tauberian Theory: A Century of Developments. Berlin, Germany: Springer-Verlag, 2004.
- [9] Maddox IJ. Tauberian theorems for some classes of discrete Abel means. Radovi Matematički 1990; 6 (2): 273-278.
- [10] Maddox IJ. A Tauberian theorem for discrete Abel means. Indian Journal of Mathematics 1991; 33 (1): 7-10.
- [11] Patterson RF, Sen P, Rhoades BE. A Tauberian theorem for a generalized power series method. Applied Mathematics Letters 2005; 18 (10): 1129-1133. doi: 10.1016/j.aml.2004.11.006
- Sezer SA, Çanak İ. Conditions for the equivalence of power series and discrete power series methods of summability.
 Filomat 2015; 29 (10): 2275-2280. doi: 10.2298/FIL1510275S
- [13] Sezer SA, Çanak İ. Power series methods of summability for series of fuzzy numbers and related Tauberian theorems. Soft Computing 2017; 21 (4): 1057-1064. doi: 10.1007/s00500-015-1840-0
- [14] Sezer SA, Canak I. On converse theorems for the discrete Bürmann power series method of summability. Maejo International Journal of Science and Technology 2016; 10 (3): 346-353.
- [15] Tauber A. Ein Satz aus der Theorie der unendlichen Reihen. Monatshefte für Mathematik und Physik 1897; 8: 273-277 (in German). doi: 10.1007/BF01696278
- [16] Totur Ü, Çanak İ. A Tauberian theorem for the power series summability method. Ukrainian Mathematical Journal 2017; 69 (12): 1701-1713. doi: 10.1007/s11253-018-1482-3
- [17] Watson B. Discrete power series methods. Analysis. International Mathematical Journal of Analysis and its Applications 1998; 18 (1): 97-102. doi: 10.1524/anly.1998.18.1.97
- [18] Watson B. A Tauberian theorem for discrete power series methods. Analysis. International Mathematical Journal of Analysis and its Applications 2002; 22 (4): 361-365. doi: 10.1524/anly.2002.22.4.361